WEBSITE PHOTOS

A This dwg is for reference only, Actual dwg should be based
on formal engineering dwg issued by Kang Yang.

—
v wwYwvwywy
1

A B C T
5.6 1.6 14.0 M3X0.5P

I T ]THREAD

PART NUMBER
M3-14F SPEC. DWG.

TR0 3y A7 TR 2> 3) —

HANG TANG HARDWARE ENTERFRISE CO., i.ﬂl SCREW

HE 45 I (R 5 ) A TR

150 oot HANG FANG PLASTIC(DONC CUAN )CO..L MATERIAL COLOR

iso 14001 -’% 3 & B ﬁaﬁ;{a}{j_j ﬁ FE}\ 3] NYLON 66(UL) 94V-0 BLACK

HANG CHE CONPUTER COMPONENTS(WUJIANG) €O..LTD. SIZE SCALE ONIT CHECK
: mm Z.C




PART NO A B C T

M3-5F 5.3 1.2 48 M3X0.5P

[1] NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M3-6F 5.6 1.6 6.0 M3X0.5P

[1]1 NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M3-8F 5.6 16 8.0 M3X0.5P

[1] NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M3-10F 5.6 1.6 10.0 M3X0.5P

[1] NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M3-12F 5.6 1.6 12.0 M3X0.5P

[1] NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M4-8F 7.6 2.0 8.0 M4X0.7P

[1]1 NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M4-10F 7.6 2.0 10.0 M4X0.7P

[1] NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M4-12F 7.6 2.0 12.0 M4X0.7P

[1] NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M4-14F 7.6 2.0 14.0 M4X0.7P

[1] NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M4-16F 7.6 2.0 16.0 M4X0.7P

[1] NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M4-18F 7.65 2.7 18.0 M4X0.7P

[1] NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M5-15F 9.1 9.1 14.8 M5X0.8P

[1] NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M3-4.2F 6.0 17 4.2 M3X0.5P

[1] NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.
M3-5.3F 53 16 5.0 M3X0.5P

[1] NYLON 66(UL)/PC(UL), Flame class: 94V-0/94V-2, Color: BLACK/NATURAL.

"

KANG YANG HARDWARE ENTERPRISE CQ, LTD
KANG YANG PLASTIC(DONG CUAN) CQ, LTD

KANG CHE COMPUTER COMPONENTS(WUILANG) CO, LTD

150 9001
150 14001
QC 080000]

TITLE

SCREW

Update date
2017-03-06

Page

172

SERIES SIZES TABLE



http://www.tcpdf.org

